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X-X-x
. (o) Determine the Fourier transform of the signal: x[n] = n
(b) Discuss sampling and reconstruction of signals; = (—a)"u[n]

(c) Determine the impulse response of thé System using Z-transform
y[n] = 0.6y[n — 1]
(d) Compare FIR filters with IIR filters,

(e) Differentiate fixed-point and floating-point numbers.

= 0.08y[n — 2] + x[n]

(5%2=10)

Section-A

7. Describe the following properties of a discrete-time system: Memoryless, Time-
Invariant, Linear, Causal, and Stable. Check the following systems with respect to
these properties: (10)

a. y[n] = x[n] Xre_w8[n — 2k]

b. y[n] = cos(2ux[n + 1]) + x[n]

c. y[n]=xmn)+nx(n+1)

. . . | 5
3. (a) Describe radix-2 DIT FFT algorithm with the help of butterfly diagram ((5))
(b) Describe time-frequency analysis using wavelet transform.
! (5)
4. (a) Determine the signals having ,-transform 1
=——c.-11052z2
X(Z) = 1—1.52-1‘*'0.52 2 .
i DFT.
(b) Describe the circular convolution property of -
Section-B
' (6)
i wing desired response
5. (a) A LPF is to be designed with the following i
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(b) Discuss finite word length effe
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6. (a) Obtain direct, cascade and parallel form structure of_sl/stem
(3+5z71)(0.6+3z77)

(1-2z714+2z7%)(1-2z71)

(b) Describe the frequency domain representation of multirate system:,

H(z) =

/. Describe the fdllowing:

fl. Architecture of TMS 320CXX
& Polyphase decomposition

X-X-X

(5, 5)
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